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TeRT TRIETT THT B TX TR -YReehT F-{1eTeh Heiqd shi eAlerT
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POPULATION STUDIES
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PAPER - 111
e - 111

Note : This paper is of two hundred (200) marks containing four (4) sections. Candidates
are required to attempt the questions contained in these sections according to the
detailed instructions given therein.

MS:  TE UGS ST At (200) 3FehT 1€ TS THH AR (4) T & | AT bl 38 THIed W91 o 3T
31T ¥ 52 7 forga Feel & STAR ST R |
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Note :

e :

SECTION -1
gg-1

This section consists of two essay type questions of twenty (20) marks each, to be
answered in about five hundred (500) words each. (2 x 20 = 40 marks)

TG TS § StG-sli 37T & 3 Faricdes U9 € | Uedieh 1 ST ol Ui | (500) 1=t H
I € | (2 x 20 = 40 37F)

Discuss, in brief, various techniques for computation of infant mortality rate.
o191 g <X TTorT Rt fafiye fafemit ot eta | = st |
OR / stgat
Write a critique on spatial organization of human settlements using the principles of
centrality.
HSIAT o NETT o1 AT SReal & TG TS hi STATeHT hitey |
OR / stgat
Critically examine how population growth is conducive to economic development
incorporating the views of Ester Boserup and Judian Simon.
STHEEAT Sl g 3T [ ol St & 399 TrI-ad SR a9 Ud Sfea Wed o aaR
i ST gU, THHT ST Toich iU |
OR / stgat
Discuss salient features of the National Rural Health Mission of India.

IR T ATHIOT T THEH o T TIeIvl 3ht AT HifU |

J-1510
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What type of errors usually occur in census and surveys data ? Discuss, in brief,
various methods for detecting digit preference in reporting of age data.
STTOTT Uel GaleToT 37ishel § UTa: fohd Ueh ot et art STt € 2 311g-3itehel o Rute o ST
i SR SI-aIT ht ST o feTu fafy= faferat st Hetu & samen ST |

OR / stgat
Write an essay on ‘India’s population distribution is peripheral to Peninsular Plateau’.
‘O St ST 1 faaRoT WE:519 Y8R =i (Peninsular Plateau) bt o | €°, 39 W U

g fafam |
OR / SAgat

Discuss in detail about the role of population growth in causing land degradation and
water and air pollution.

AT gy i 9T, g % e (Land degradation) TR STel @7 a1 UgHT W
foreger =amen FIf |
OR / AAgaT

Critically discuss various strategies adopted in the family welfare programme in
India.

TRA H IRER eI R & GrY | 3YATE T8 T0HICET hl STeATTcHe ST Shifsu |

J-1510
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Note :

J-1510

SECTION - II
EC i | |

This section contains three (3) questions from each of the electives/specializations.
The candidate has to choose only one elective/specialization and answer all the three
questions from it. Each question carries fifteen (15) marks and is to be answered in
about three hundred (300) words. (3 x 15 = 45 Marks)

T TS | Y Ufow Zohre / foeiomrar @ @i (3) W9 € | 31=el] ol shael U U TS /
ToQIIRTeT <l TR 3T o AT U1 o1 ST ST € | Tedieh U9 UgE (15) 37hi ol € o STehT
IR SITHI A Y (300) VT H A R | (3 x 15 = 45 3i)

Elective — 1
famea -1
Techniques of Population Analysis

(STt faverauT 1)

Define nuptiality. Describe a procedure to obtain singulate mean age at marriage.

ATl i TRATST HITT | foTaTe i TeheT STG-HTE i U Sl ol Weh TaTey ol U hifoTy |

Discuss, in brief, various measures of fertility along with their merits and demerits.

TSI o TaTF=T TTdT Sht AR 37k T[0T-3TauT Aled Weid | Shifsy |

Describe component method of population projection. Give its advantages.

ST VRITUT o T2 [aT4 o1 S0 ShifSTT | 38 o1y fAf@n |

OR / 3rgat
Elective — I1
faew — 11
Population, Settlements and Human Ecology

(ST, Sae A A aRRefa-famm)

What do you understand by ‘Rural-Urban Continuum’ ?

Y- R 9 R ST & 2

Give methods of functional classification of Towns.

TR o T I o TR U TSI bl TR bt U1 hifsTy |

What do you understand by ‘Ecological Imbalance’ ? How is it produced by human
factors ?

“YATERT- TEer W T AT € 2 WIe hReh! o FRT T8 Sl S~ &Il & ?

10



OR / 3rgat
Elective — I11
Population, Development and Environment
faew — 1T
ST, faet 3R watawr

Define the concept of ‘Limits to growth’. State its importance in the context of
population and development — nexus.

forenT oh! HIHTE ST hl TR SITSTT | STHEET R foehTd o a4 o W89 | 3qeh
Tl Sl THEEY |

Distinguish between the Physical Quality of Life Index (PQLI) and Human
Development Index (HDI) with their limitations.

St 3T sRATuTeRT (PQLI) =i IIRINGR TOTaMT IR W Taehr STIshHATOTRT (T E1.3TE.)
fof=elT <A1 3Rt HivaT Tfed aared |
Examine the linkages between population and sustainable development.

STTGEAT 3 SIEehlolT TerehT oh sl oh Tl ohT GI&T0T ShifsTu |

OR / 3rgar
Elective - IV
Family Welfare Programme in India
fawew — IV
(YR W URER HedruT HhH)

Discuss various services provided under the Reproductive and Child Health Approach
in India.

IRA H JFScUR 3R R]-Tares SUNTH & ST=id &1 ST el g Jeretl st o
FHifTT |

Discuss trends in the prevalence of HIV/AIDS in India and identify vulnerable
sections of population.

IR | TF € af / USH & Toei TIHT i AT HiT SR SEEAT & e TSI 6l
TEIH HIT |

Discuss various services provided through antinatal, natal and post-natal care under
the Family Welfare Programme in India.

IRA | IRAR e FHRHH % S Weh-T9d, THahel, Ted-09e 3@ & S aretf
gferemaT st SR R |

J-1510
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SECTION - 111
g - Il
Note : This section contains nine (9) questions of ten (10) marks, each to be answered in
about fifty (50) words. (9 x 10 = 90 marks)
Me: U TS H T2 (10-10) 37T & AT (9) A & | TP U9 T ST 1T T (50) v=3i |
T | (9 x 10 = 90 37F)

6. Define census and describe methods of census enumeration.

SO bl GRCATST SHSTT 3 STOMT i ol {aTet sl 0 ShifeTy |

J-1510 17 P.T.O.



7. What do you understand by economic composition of population ?

ST I 3R ST | T At € 2

8. State some of the major social implications of ageing of population in India.

TRA T FETAT ¥ Gty Fr1isTeh T 3l J0T SHitw |

9. Distinguish between (i) ‘period’ and ‘cohort’ life table and (ii) ‘complete’ and
‘abridged’ life table.

(i) e’ 3R “FEre STHeA-TRoT 3R (i) THeT 3R ThTa’ Siaa-giol § 3R W
T |

J-1510 18



10. Define Lexis diagram and give its uses.

AR ST Sl IS SITSTT STR R U SIdTey |

11. Describe fertility transition in India.
R H I ThHvT 3 0T HITTT |

J-1510 19
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12. What are the push and pull factors influencing migration ?

Terd 1 YITerd e aTet Y¥T 37R Yot ShiRehi ohl [a9eio HifsTy |

13. Write what you know of Human Development Index.

A TP STIohHTOTERT o SR | 319 :IT ST & 2

14. What do you understand by the status of women ?

&l o T 9 319 41 gHerd § 2

J-1510 20



SECTION - IV
g -1V

This section contains five (5) questions of five (5) marks each based on the following
passage. Each question should be answered in about thirty (30) words. (5 X 5 = 25 marks)

T T § FEfeiad Tt W AR uier (5) U9 € | Ucdeh U9 Sl ST AT | (30) s |
JMURTT & | ek U9 Wit (5) SThT I T | (5 x 5 = 25 37®)

Let us trace hypothetically from left to right an axis going from zero point in
urbanization (the non-existence of the city, the complete predominance of agrarian life,
agricultural production and the countryside) to full urbanization (the absorption of the
countryside by the city and the total predominance of industrial production, including
agriculture). This abstract picture momentarily places the discontinuities in parentheses. To a
certain extent it will enable us to locate the critical points, that is, the breaks and
discontinuities themselves. Quite quickly on the axis, quite near to the beginning, let us mark
the political city (in effect achieved and maintained in the Asiatic mode of production) which
organizes an agrarian environment by dominating it. A little further, let us mark the
appearance of the commercial city, which begins by relegating commerce to its periphery
(a heterotopy of outlying areas, fairs and markets, places assigned to foreigners, to strangers
specialized in exchanges) and which later integrates the market by integrating itself to a
social structure based on exchanges, expanded communications, money and movable wealth.
There then comes a decisive critical point, where the importance of agriculture retreats before
the importance of craft and industrial production of the market, exchange value and a rising
capitalism. Soon it is the arrival of the industrial city, with its implications (emigration of
disposed and disaggregated peasant populations towards the city — a period of great urban
concentration). Urban society is heralded long after society as a whole has tilted towards the
urban. Then there is the period when the expanding city proliferates, produces far-flung
peripheries (suburbs), and invades the countryside. Paradoxically, in this period when the city
expands inordinately, the form (the practico-material morphology, the form of urban life) of
the traditional city explodes. This double process (industrialization-urbanization) produces
the double movement: explosion-implosion, condensation-dispersion (the explosion already
mentioned). It is therefore around this critical point that can be found the present problematic
of the city and urban reality.

J-1510 21 P.T.O.



33T 94 F T ST 1ol 39 IRbead €- i &g S TRIFOT & I {05 T (FR & R
Refee, STET Y Siier, FHT IeAE 3R ATHOT Tt bl SetaTell €) FHOT "TRISH0T st AR STl € (390
TTHIOT T 3T AR R 319 H THEAT o7l ST € 3R S STreiiTeh Scara ol TelT STy & fS1ad i
off e ®) | 7 ot 2 el o fou fferea & aifReaanati =t s9nien & | fepalt diwn aeh 78 & iR
fargatt ot ST o AT ST 37eT] SO™ &1 SRR STR ST Sl S U | 8- W Soal 9,
3R 4T & URET & fooshet GHIT, 33T &7 ITHITde TR T F91E 918 (BT 3718 o TR &7 9
RO U IyA TSl 717 &) ST T TaR0T 1 S, 36 W I ST L, T & | 309 F9
3, SATNE TR % IR I ST ST S 319 TRAHT F S0 Bl AT € | 39 IREHT H =l
TATh T URGEE, Hel 3R IR, Tt & foly Mige M 3R fafm & faeme semtear & forg
TR SR ST 15 | ST ST S, YRR T6R, 67 SR =6l YHgT IR SE QHEisth 9a- T §
T AT & | ST Yo ¢ HIfhe T Thighd T & | 79 F@1 HUTes TR g 31 € et fored 31k
3TNt SeTeH, Hifdhe, fafTwa god 3R e GSfieng o 3T Y T Hewd Hishl IS Sl ¢ | I8
3TN TR T STTHA & 3T 3ok W1 & SHeh! STt T4T ek TG! (a8 qrueT fo bl & 3fi
T TH T, TR B AR Y R I € | T8 TR TR-F 20T 61 T ¢ | TR FHIST T AT Tg a5
H BIT & ST GegOT FHIST TR 6l 3R g A1 € | O 9 THT ST & ST {1 el g 7R §X-3IT
i TREHATSTT (ITN(3T) T g AT & SR UTHIOT TeAT T STHAVT AT & | T 7 ¢ 7o 39 araty
% SN, Sa TR STEHR €9 Y Tefdl & a TR 7R i B (Afaehl- J2RTel TRH ST T
F ET 8) B TS & | TE IR ShAT (SRNNTH-TRIHON) S M 370 Thiel - 37 TR,
TICARROT-TTERTE (WIS T GV 8ot &l &1 T €) | TTeTT 3 TR g o 31U, 7R 3R TR
Y T ST A3 ST ST b § |

15. What does the author mean by ‘Axis of Urbanisation’ ?

“TISYOT Sl € T THaeh ol T STV & 2

16. What are the ‘Critical Points’ in the process of urbanisation ?

TRIHIT AThAT § ST &5 S 9 & ?

J-1510 22



17. How does the trajectory of urbanisation shape itself to accommodate a political city
and a commercial city ?

TeTHaeh TR TE SAMTeR TR &l 3799 H GHM o {60 FIRIeR0T shl U&iT 99 @ 91 &9 gR0T
AT ?

18. How does the pattern of urbanisation transform itself with the emergence of an
industrial city ?

ol 3TTNTTe 7R & WIgeTe o |1 T2 SWRIShIUT o &Tdl o ©9 H T 3T 3Tl § 2

19. What is the impact of industrialisation-urbanisation on urban-reality in space ?

Tordll &5 § TTR-TA1AT OR SETeh0T-TRIH0T Shl T THTe & 2

J-1510 23 P.T.O.
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